QUESTIONS & ANSWERS

IBM 0% })
P9510-020

IBM Rational Enterprise Modernization for System z
Technical Sales Mastery

https://killexams.com/pass4sure/exam-detail/P9510-020




A. to continuously monitor the health of a project

B. to propagate process rules and permissions to other projects

C. to subscribe to relevant artifacts from other team areas

D. to share change sets among members of the development team

Answer: D

QUESTION: 51
An RDz developer wants to use application information in the RAA database interactively
while making code changes. Which Rational Asset Analyzer interface best meets this need?

A. IDE plug-in
B. ISPF client

C. browser-based
D. RESTful

Answer: A

QUESTION: 52
What is the BEST way to share processes in Rational Team Concert?

A. by exporting the process to an XML file

B. by generating a template based on the process

C. by copying a project containing that process and removing unwanted artifacts
D. by writing a PERL script to export and import the process

Answer: B

QUESTION: 53
How does workstation syntax checking reduce host CPU usage?

A. requires fewer program compiles on z/OS
B. reduces the lines of code to be processed
C. lowers skill requirements for development



D. replicates z/OS on an x86 Linux server

Answer: A

QUESTION: 54

An enterprise customer still runs many of its critical applications on COBOL. It takes days
of planning and code reviews whenever they are forced to make changes. Which IBM
Enterprise Modernization product can best help determine the impact of code changes more
quickly and with less risk?

A. IBM Rational Asset Analyzer

B. IBM Rational Team Concert

C. IBM Rational Development and Test Environment for System z
D. IBM Rational Developer for System z

Answer: A

QUESTION: 55

An enterprise organization manages their mainframe application development separately
from their projects on other platforms. Their processes and tools are disconnected, often
resulting in delayed time to market. Which component of the IBM Integrated Solution for
System z Development provides a common infrastructure for source control and change
management?

A. Rational Developer for System z
B. Rational Quality Manager

C. Rational Requirements Composer
D. Rational Team Concert

Answer: D

QUESTION: 56

Which two benefits of the IBM Rational Development and Test Environment for System z
allow mainframe customers to increase application quality while decreasing costs? (Choose
two.)



A. replacing a larger mainframe system for final software testing

B. freeing up MIPS on the mainframe for production workloads

C. providing actual z/OS middleware to replicate the mainframe environment
D. supporting small-scale z/OS production workloads from an x86 Linux server

Answer: B, C

QUESTION: 57
What are two ways snapshots are used in Rational Team Concert? (Choose two.)

A. to capture the current state of a project plan

B. to preserve the source code used for a given build

C. to provide atomic changes to sets of files

D. to show the amount of source control activity that happened over a given time

Answer: A, B

QUESTION: 58
In addition to z/OS, what are two software requirements to run IBM Rational Asset
Analyzer for System z? (Choose two.)

A.DB2

B. COBOL compiler

C. Java Runtime Environment

D. WebSphere Application Server

Answer: A, D

QUESTION: 59
Which statement is true about logical partitions (LPARS) in z/OS?

A. Each LPAR must have a dedicated processor.
B. Multiple small machines are more cost effective than a single large machine with
multiple LPARs.



C. Each LPAR must have a dedicated disk device.
D. Each LPAR runs its own operating system.

Answer: D



For More exams visit https://killexams.com/vendors-exam-list

Kill your exam at First Attempt.... Guaranteed!



